HEAT ROUND 2022 -2023 — Grade 2

1. When Ethan was bom, mum was 31 years old. His brother was born 3 years later.
When mum is 49 years old, how old is Ethan's brother?

2. 12" June 2022 is Sunday. Which day of the week is 91" July in the same year?

Ngay 12 thdng 6 nam 2022 la Chii nhdt. Ngay 9 thang 7 cing ndm la thie may trong
tuan?

3. What is the value of the number to represent "?" in the following table?

Gia tri cua so dé biéu thi dau "?" trong bang sau?

513 |15
415120
3171 7?
21918

4. According to the pattern below, what is the English letter in the space provided?

Theo mdu duéi déy, chir cdi tiéng Anh trong khodng tréng 1a gi?

D,G,I,L,N,

5. 29 children form a column. Eleanor and Nicole stand next to each other. There are
13 children in front of them. How many children are behind them?



29 dira tre tgo thanh mét cor. Eleanor va Nicole dving canh nhau. C6 13 dira tré
trieéc mat ho. Hoi €6 bao nhiéu dira tré ¢ dang sau ching?

6. Find the value of 13 -7 -9+ 16 — 5.
Timgiatricuald3-7-9+16-5

7. Find the value of 45 x 2 x 6 x 5.

Tim gié tri cua 45%2x6x5

8. If A and B are both 1-digit numbers, what is the value of A x B if the equation
below is correct?

Néu A va B déu 1a sé c6 1 chi so, gia tri cua A x B 1a bao nhiéu néu dang thite duéi
day dung?

B

_l_
B A
5 3

9. Find the valueof 7x39+ 7 x77—-7x21 -7 x 25.
Timgidtricua7x 39+ 7 x 77 -7 %21 -7 x 25,

10. Find the valueof 7+39+3+31+1+33+5+49+ 9+ 37.
Timgiadtricua7+39+3+31+1+33+5+49+ 9+ 37,



11. Wendy gave Alan 10 pencils. Fred gave Wendy 6 pencils. Then they all have
equal number of pencils. How many pencils did Wendy have more than Alan
originally?

Wendy dwa cho Alan 10 cdy bit chi. Fred dwa cho Wendy 6 cdy biit chi. Khi dé tat
Cd cdc em déu ¢6 sé but chi bang nhau. Héi lic dau Wendy ¢é nhiéu hon Alan bao
nhiéu chiéc but chi?

12. Determine the resultof 5x7-3x9+5x4+9x8-6%x2—-7x9isodd or
even number.

Xac dinh két qua 5x7 — 3x9 + 5x4 + 9x8 — 6x2 — 7x9 14 56 1¢ hay sé chan.

13. The numbers below form an arithmetic sequence. What is the sum of the 6"
number and the 8" number in the sequence?

CAac s duwdi ddy 1dp thanh mét cap sé céng. Tong cia sé thir 6 va sé thir 8 trong day
la bao nhiéu?

9, 89, 82, 75, ..

14. Find the smallest 3-digit odd number with different digits.

Tim s6 lé nhé nhdt ¢6 3 chir s6 khac nhau

15. Fill the lines with ‘+* and ° - * to make the equation below correct. (Write down
the complete equation on the answer sheet).

pién ddu “+’va -’ vao cdc dong dé phwong trinh dudi ddy ding. (Viét phwong trinh
hoan chinh vao phiéu tra 161).

17 9 6 12 = 14

16. How many squares are there in the figure below?



Hinh bén duéi ¢6 bao nhiéu hinh vuéng?

17. How many line segments are there in the figure below?

Hinh dwéi ddy c6 bao nhiéu doan thang?

18. At least how many small squares can be seen if viewing the figure below from
the right?

C6 it nhat bao nhiéu 6 vudng nhé néu nhin hinh bén dwdi tir bén phdi?




19. A pyramid has 29 vertices. How many faces does this pyramid have?

Mot hinh chép co 29 dinh. Hoi hinh chop nay ¢6 bao nhiéu mat?

20. A pyramid has 19 vertices. How many edges does this pyramid have?

Mot hinh chép co 19 dinh. Hoi hinh chop nay c6 bao nhiéu cgnh?

21. What is the greatest 4-digit odd number composed of digits 0, 8, 6, 9 or 2? (Each
digit can only be used once)

S lé 16n nhdt c6 4 chir sé khac nhau gom cac chiz sé 0, 8, 6, 9 hodc 2 1a sé nao?
(M4i chir sé chi dwoc stk dung mét lan)

22. How many different ways to express 17 as the difference of two natural numbers
greater than 0 such that one of them is smaller than 18?

C6 bao nhiéu cach biéu dién 17 duwéi dang hiéu cua hai sé tw nhién 16m hon 0 sao
cho mét trong hai s¢ dé nhé hon 18?

23. Choose 4 digits, without repetition, from 3, 9, 5, 7, 1, 8 to form two 2-digit odd
numbers. What is the minimum value of the difference of these pairs of numbers?

Chon 4 chiz s6, khdng lap, tir 3, 9, 5, 7, 1, 8 dé lap thanh hai sé 1é ¢d 2 chiz so. Gia
tri nhé nhdt cua hiéu cia cac cap sé nay la bao nhiéu?

24. Issac has 8 $1 coins, 3 $2 coins and 5 $5 coins. If one cup costs $6, at most how
many cups can he buy?

Issac ¢6 8 dong 1 dé la, 3 dong 2 dé la va 5 dong 5 dé la. Néu mét coc cé gid 6 do
la, anh @y mua nhiéu nhdt bao nhiéu chiéc coc?



25. Among the values of the following expressions, how many even number(s) is/are
between 30 and 50?

Trong cAc gid tri cua cac biéu thic sau, c6 bao nhiéu sé chan nam trong khodng tir
30 d@én 507

99 +-3;19%x2:51+3;6%x8:;24x3:;5%x5:62=+2



